Hints and Selected Answers for Section 2 Exercises
1. 
a. 
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 is a commutative ring. Its unity element is 1. It is not a field, since for any non-
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d.
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 is both a ring and a field. Its unity element is 
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e.
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 is a ring but has neither a unity element or is a field.

2.
a.

8

e.

(4, 1).

3.
a.

The integers -1 and 1 are units.


e.

The elements 1, 3, 5, and 7 of 
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 are units.

4.
For 
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, keeping in what it must equal when R is assumed to be commutative and when it is not.

9.
a.

Show that 
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b.
Find all the idempotents for 
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 and 
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 and match up corresponding ordered pairs.
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